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GRAPHING TWO VARIABLE INEQUALITIES 

 
Match each inequality with its graph. 

 
________1. 
 

 

y   
2

1
x – 2  

 

 
________2. 

 

y    
3

2
x + 2 

 

 
________3. 

 

y    
3

2
x + 2 

 

 
________4. 

 

y    
2

1
x – 2 

 

 
 

 

 

 

 
 
Graph each inequality. 

 
5)    y  < 2x – 5   
 

6)    y  >  
2

3
 x – 1  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

  

  

A. B. 

C. D. 

 

 
 

 

 
 

 

 
 



 

 
7)    y <  -3x 
 

 
8)    y  >  x + 1 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

9.  Graph 4x – 3y = 24 
 
 
 
 
 
 
What are the coordinates for the 
x-intercept? 
 
 
What are the coordinates for the  
y-intercept? 
 

10.  Does the point (3, -7) lie on the line represented by 2x – y = 4? 
 
 
 
 
 

11.  Solve 2(x + 4) – 3x = 10 
 
 
 
 
 
 
 
 
 

 

 

 
 

 

 
 

 

 
 


